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ﬂ e cost price of a pen is Rs 25. Mahesh sold it af Rs 30. Find m‘
per cent.

Cost price of the pen = Rs 25
Selling price of the pen = Rs 30
Profit = SP. - CP
= Rs. 30 - Rs 25

Profit per cent = F’ro—m x 100
Cost price 20
105
5 500
) . = = 20
7% x 100 e
So, profit = 20% ol

Example 2. A chair was bought for Rs 200 and sold for Rs 175. Find the loss per cent.

Solution.  Cost price of the chair = Rs 200
Selling price of the chair = Rs 175
Loss = CP. - SP. =Rs 200 - Rs 175 = Rs 25

Loss
f = ——
Loss per cen Gost price x 100 ]
e Re 25 25 x 105
= RS 200 X ]OO = 296
25 ] 2
e = 7> = 12—
- 2 2
. So, loss = 12%%
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